CHEMISTRY

BOOKS - EVERGREEN CHEMISTRY (ENGLISH)

PERIODIC PROPERTIES OF ELEMENTS

1. Write the group and period numbers of sodium from its

electronic configuration (Na=11=2,8,1)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ubsj2Mck1qdI

2. Write the group and period numbers of oxygen from its

electronic configuration (O =8 = 2, 6).

o Watch Video Solution

3. Lithium is more metallic than beryllium. Give reason.

o Watch Video Solution

1. The number of electrons present in the valence shell of a

halogen is :


https://dl.doubtnut.com/l/_VKmzsBdfR2ae
https://dl.doubtnut.com/l/_F1q8NEofu7bf
https://dl.doubtnut.com/l/_cyJjhd3qQVlD

Al

B.3

C.5

D.7

Answer:

o Watch Video Solution

2. Which of the following properties do not match with

elements of the halogen family?

A. They have seven electrons in their valence shell.

B. They are highly reactive chemically.



https://dl.doubtnut.com/l/_cyJjhd3qQVlD
https://dl.doubtnut.com/l/_eIhycNSQIue4

C. They are metallic in nature.

D. They are diatomic in their molecular form.

Answer:

o Watch Video Solution

3. Give the number of group and the period, of the
element having three shells with three electrons in valence

shells.

o Watch Video Solution

4.In group 1 the atomic radius of sodium is greater than

the atomic radius of lithium. Give reason.


https://dl.doubtnut.com/l/_eIhycNSQIue4
https://dl.doubtnut.com/l/_elIbfc8ahRL6
https://dl.doubtnut.com/l/_6Yln6lvCS8Pr

o Watch Video Solution

5. The size of potassium atom is greater than the size of

sodium atom. Give reason.

o Watch Video Solution

6. In halogens (group 17) the atomic radius of chlorine is

greater than the atomic radius of fluorine. Give reason.

° Watch Video Solution

7. The atomic size of beryllium is smaller than the atomic

size of lithium. Give reason.


https://dl.doubtnut.com/l/_6Yln6lvCS8Pr
https://dl.doubtnut.com/l/_TYFuuiNrZkjI
https://dl.doubtnut.com/l/_F64Gs1XRrSyx
https://dl.doubtnut.com/l/_7sgmUmLWZ0c8

o Watch Video Solution

8. The atomic size of lithium is larger than the atomic size

of beryllium. Give reason.

o Watch Video Solution

9. Look at the atomic radii of some elements of the second
period and answer the questions.

&=

Are these elements arranged on the pattern of a period of

the periodic table?

° Watch Video Solution



https://dl.doubtnut.com/l/_7sgmUmLWZ0c8
https://dl.doubtnut.com/l/_f3IrNMYqIB4F
https://dl.doubtnut.com/l/_JKc18oqron4a
https://dl.doubtnut.com/l/_U3WlnP98k4au

10. Look at the atomic radii of some elements of the
second period and answer the questions.

Lo

Arrange these elements in the decreasing order of their

atomic radii.

o Watch Video Solution

1. Look at the atomic radii of some elements of the
second period and answer the questions.

Lo

Which element has the largest atomic radius and which

one has the smallest?

o Watch Video Solution



https://dl.doubtnut.com/l/_U3WlnP98k4au
https://dl.doubtnut.com/l/_CCC2LB7oj3te

12. Look at the atomic radii of some elements of the
second period and answer the questions.

Lo

How does the atomic radius change on moving from left

to right in the period?

o Watch Video Solution

13. The ionisation energy of potassium is lower than that

of sodium. Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_CCC2LB7oj3te
https://dl.doubtnut.com/l/_YBGLK5FaHcgc
https://dl.doubtnut.com/l/_vAzW5dS8gWv2

14. Give reason - The oxidising power of elements increases

from left to right along a period.

o Watch Video Solution

15. Fill in the blank from the choices given in brackets :

The energy required to remove an electron from a neutral
isolated gaseous atom and convert it into a positively
charged gaseous ion is called .. (electron affinity,

ionisation potential, electronegativity)

o Watch Video Solution



https://dl.doubtnut.com/l/_let0SpGJvKUV
https://dl.doubtnut.com/l/_KI7fo5fghx6k

16. Which one of the following elements of period 2 has

high electron affinity?

A. Lithium

B. Carbon

C. Fluorine

D. Neon

Answer: C

° Watch Video Solution

17. Define the following terms:

lonisation potential

[ !


https://dl.doubtnut.com/l/_VgrJRTI4IFg4
https://dl.doubtnut.com/l/_4hSlLuB3CQrn

l ¥J Watch Video Solution I

18. Define the following terms:

Electron affinity .

o Watch Video Solution

19. Answer the following questions:

The metals of Group 2 from top to bottom are Be, Mg, Ca,
Sr, and Ba.

Which one of these elements will form ions most readily

and why?

o Watch Video Solution



https://dl.doubtnut.com/l/_4hSlLuB3CQrn
https://dl.doubtnut.com/l/_O1LAj12BVZyq
https://dl.doubtnut.com/l/_YkPaJE35TUB1
https://dl.doubtnut.com/l/_pU2dUzagGrNP

20. The metals of Group 2 in the periodic table from top to
bottom are - Be, Mg, Ca, Sr, & Ba
State the common feature in the electronic configuration

of all these elements given.

o Watch Video Solution

21. An element has an atomic number 16. State the period

to which it belongs.

o Watch Video Solution

22. An element has an atomic number 16. State the number

of valence electrons.

. l


https://dl.doubtnut.com/l/_pU2dUzagGrNP
https://dl.doubtnut.com/l/_lClGF0tE66cr
https://dl.doubtnut.com/l/_htjk43mV0c31

| ¥ Vvatch video >olution ]

23. Atomic number of element Z is 16.

Is Z a metal or a non metal.

o Watch Video Solution

24. There are three elements E, F, G with atomic numbers
19, 8 and 17 respectively.

Classify the elements as metals and non metals.

o Watch Video Solution



https://dl.doubtnut.com/l/_htjk43mV0c31
https://dl.doubtnut.com/l/_UNStfKVK9ygn
https://dl.doubtnut.com/l/_YrRLoIglB3pz

25. There are three elements E, F, G with atomic nhumbers
19, 8 and 17 respectively.

Give the molecular formula of the compound formed
between E and G and state the type of chemical bond in

this compound.

° Watch Video Solution

26. Changes in the properties of elements on moving left
to right across a period of the periodic table. For each
property, choose the letter corresponding to the correct
answer from the choices A, B, C and D.

L

The nonmetallic character of the elements


https://dl.doubtnut.com/l/_vDqLJamLmBv0
https://dl.doubtnut.com/l/_cro8QprEcPz5

A. decreases

B. increases

C.remains the same

D. depends on the period

Answer: B

o Watch Video Solution

27. Changes in the properties of elements occurs on

moving top to bottom in a group of the periodic table.

Discuss the trend of electronegativity along the group.

A. depends on the number of valence electrons

B. remains the same


https://dl.doubtnut.com/l/_cro8QprEcPz5
https://dl.doubtnut.com/l/_N8GfZwrRalgW

C. decreases

D. increases

Answer: D

o Watch Video Solution

28. Changes in the properties of elements on moving left
to right across a period of the periodic table. For each
property, choose the letter corresponding to the correct

answer from the choices A, B, C and D.


https://dl.doubtnut.com/l/_N8GfZwrRalgW
https://dl.doubtnut.com/l/_Dqf5Qh9ahyIQ

|
II
]

In a group In a period
e~ Rty (from top to bottem) (from left to rightt
1 Atomic size Increases Decreases
F 3 lonisation energy | Decreases Increases.
3 Electronegativity Decreases Increases (zero for noble gas)
4 Electron affinity Decreases Increases (zero for noble gas)
5 Metallic character Increases Decreases
6. Electropositive character | Increases Decreases
7 Nonmetallic charater Decreases. Increases.
8 Electronegative character Decreases. Increases.
9 Number of valence shells Different Same
10. Valency | Same Different

The ionisation potential

A. goes up and down.

B. decreases

C. increases

D. remains the same

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Dqf5Qh9ahyIQ

29. Changes in the properties of elements on moving left
to right across a period of the periodic table. For each
property, choose the letter corresponding to the correct

answer from the choices A, B, C and D.

L.

- |

The electron affinity of the elements

A. decreases

B. increases

C.remains the same

D. sometimes increases and sometimes decreases.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nKV5TTqiTSxx

30. Changes in the properties of elements on moving left

to right across a period of the periodic table. Discuss the

trend of the electron affinity along the period.

A. goes up and then down.

B. decreases and then increases.

C. increases

D. decreases

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fN2OXJUS2WMt

31. Arrange the following as per the instructions given in
the brackets :

Cs, Na, Li, K, Rb (increasing order of metallic character).

o Watch Video Solution

32. Arrange the following as per the instructions given in
the brackets :

Mg, Cl, Na, S, Si (decreasing order of atomic size).

o Watch Video Solution

33. Arrange the following as per the instructions given in

the brackets :


https://dl.doubtnut.com/l/_oSU8ymwxCM3i
https://dl.doubtnut.com/l/_cIUaGRrzx1Z1
https://dl.doubtnut.com/l/_E0Xngm5raIRN

Na, K, Cl, S, Si (increasing order of ionization energy).

o Watch Video Solution

34. Arrange the following as per instructions given in the
brackets:

Cl, F, Br, I (increasing order of electron affinity)

o Watch Video Solution

35. Arrange the following as per the instruction given in
the brackets:
He, Ar, Ne (Increasing order of the number of electron

shells)

I o Watch Video Solution


https://dl.doubtnut.com/l/_E0Xngm5raIRN
https://dl.doubtnut.com/l/_VEtHGaUo0R9B
https://dl.doubtnut.com/l/_sJHD6gCrrinp

36. Arrange the following as per the instruction given in
the brackets:

Na, Li, K (Increasing lonisation Energy)

o Watch Video Solution

37. Arrange the following as per the instruction given in
the brackets:

F, Cl, Br (Increasing electronegativity)

o Watch Video Solution



https://dl.doubtnut.com/l/_sJHD6gCrrinp
https://dl.doubtnut.com/l/_G7lXrkaSVSaF
https://dl.doubtnut.com/l/_os1fu1hj4P0S

38. Arrange the following as per the instruction given in
the brackets:

Na, K, Li (Increasing atomic size)

o Watch Video Solution

39. An element Z has atomic number 16. Answer the
following questions on Z:

State the period and group to which z belongs.

o Watch Video Solution

40. An element Z has atomic number 16. Answer the

following questions on Z:


https://dl.doubtnut.com/l/_sgPE9QRa7ikh
https://dl.doubtnut.com/l/_nqnNxNDaQrkf
https://dl.doubtnut.com/l/_5RQ9ZdJ2QzC3

Is Z a metal or a non-metal ?

o Watch Video Solution

41. An element Z has atomic number 16. Answer the
following questions on Z:

State the formula between Z and Hydrogen.

o Watch Video Solution

42. An element Z has atomic number 16. Answer the
following questions on Z:

What kind of a compound is this?

o Watch Video Solution



https://dl.doubtnut.com/l/_5RQ9ZdJ2QzC3
https://dl.doubtnut.com/l/_cGk5nZc2FqmI
https://dl.doubtnut.com/l/_ferLRl2SO2vp

Question Fill In The Blanks From The Choices Given In The

Brackets

1. Select the correct answer
Across a period, the ionization potential [increases,

decreases, remains same].

o Watch Video Solution

2. Select the correct answer
Down the group, electron affinity [increases, decreases,

remains same]

° Watch Video Solution



https://dl.doubtnut.com/l/_T5VSlyJNccjc
https://dl.doubtnut.com/l/_CPB8oqa4Yn2t

Important Assignments

1. The elements of group 1 are called alkali metals. Give

reason.

° Watch Video Solution

2. Name two metals each one of which has one electron in

its outermost shell.

° Watch Video Solution

3. The elements of group 2 are called alkaline earth metals.

Give reason.

[ |


https://dl.doubtnut.com/l/_xBPlboA22k11
https://dl.doubtnut.com/l/_3Vpe4hoSSx0C
https://dl.doubtnut.com/l/_T1rua0PfJ1kP

I & Watch Video Solution

4.The alkaline earth metals are placed in the same group.

Give reason.

o Watch Video Solution

5. Name two elements which show chemical reactions

similar to magnesium.

o Watch Video Solution

6. Name the property which all the elements of group 13

have in common.



https://dl.doubtnut.com/l/_T1rua0PfJ1kP
https://dl.doubtnut.com/l/_b0pg9JoqU4Gi
https://dl.doubtnut.com/l/_HGMcBeNTp8kY
https://dl.doubtnut.com/l/_7RnncBzSuMXy

l @Y Watch Video Solution I

7. Name an element which has a total of two shells and

there are three electrons in its valence shell.

o Watch Video Solution

8. Name an element which has twice as many electrons in

its second shell as in the first shell.

o Watch Video Solution

9. Name an element which has a total of three shells and

there are four electrons in its valence shell.



https://dl.doubtnut.com/l/_7RnncBzSuMXy
https://dl.doubtnut.com/l/_eykHu1VDfSc7
https://dl.doubtnut.com/l/_hy9YiUH1ynHe
https://dl.doubtnut.com/l/_TjeLkzZbHOY9

I o Watch Video Solution

10. The elements of group 16 are called as chalcogens. Give

reason.

° Watch Video Solution

11. Name all the elements of group 17.

o Watch Video Solution

12. Why are the elements of group 17 called halogens?

° Watch Video Solution



https://dl.doubtnut.com/l/_TjeLkzZbHOY9
https://dl.doubtnut.com/l/_a2SCn8cNJeiz
https://dl.doubtnut.com/l/_c6JHSnUObauP
https://dl.doubtnut.com/l/_Uolu54LmIijw

13. Name the property common to all the elements of the

group in which fluorine is placed.

o Watch Video Solution

14. Why are the elements of group 18 called noble gases?

o Watch Video Solution

15. Name an element that has two shells each one of which

is completely filled with electrons.

° Watch Video Solution



https://dl.doubtnut.com/l/_jHXlO4mSKr4k
https://dl.doubtnut.com/l/_nBNxdvZYA82u
https://dl.doubtnut.com/l/_SbpihF4l13Wa

16. Name two elements with filled outermost shell.

o Watch Video Solution

17. Helium is an unreactive gas and neon has very poor

reactivity. What do these elements have in common?

o Watch Video Solution

18. What is the general name given to the elements of

atomic numbers from 89-103?

o Watch Video Solution



https://dl.doubtnut.com/l/_iNFzXDn9ilyX
https://dl.doubtnut.com/l/_33INuvi3Jp4X
https://dl.doubtnut.com/l/_UIPfiGVkrUmw

Question For Practice

1. How many groups are there in the modern periodic

table?

° Watch Video Solution

2. Write the names and symbols of the first two elements

of group 2.

° Watch Video Solution

3.Boron is the first element of group 13. Name the second

element of this group.

[ e |


https://dl.doubtnut.com/l/_H87NSwlpnRXT
https://dl.doubtnut.com/l/_cftiMuU3DcgT
https://dl.doubtnut.com/l/_W2F7fBbc8cmt

l &J Watch Video Solution I

4. Name the first and second elements of groups 14.

o Watch Video Solution

5. To which group does nitrogen (at. no. 7) belong in the

periodic table?

o Watch Video Solution

6. Name the first two elements of group 17.

° Watch Video Solution



https://dl.doubtnut.com/l/_W2F7fBbc8cmt
https://dl.doubtnut.com/l/_jHhVBZN1W95t
https://dl.doubtnut.com/l/_LbPxGoq8vnfc
https://dl.doubtnut.com/l/_urdreVU5cJG5
https://dl.doubtnut.com/l/_PEpPfTGOfeE2

7. Write the number of electrons in the outermost shell of

Sodium

o Watch Video Solution

8. Define a period of the modern periodic table of

elements.

o Watch Video Solution

9. Name the first and last element in period 2

° Watch Video Solution



https://dl.doubtnut.com/l/_PEpPfTGOfeE2
https://dl.doubtnut.com/l/_pS7h2jHFNdkH
https://dl.doubtnut.com/l/_RSn3m007RywU

10. Which one is the fundamental property of an element-

atomic number or mass number?

o Watch Video Solution

11. Lithium is the first metal of group 1. Name the second

and third metals of this group.

O Watch Video Solution

12. Match the atomic number 2, 4, 8, 15, and 19 with of the
following:

A solid non-metal belonging to the third period.

o Watch Video Solution



https://dl.doubtnut.com/l/_whn7YpUrXZgw
https://dl.doubtnut.com/l/_qmc4ex0fUQTs
https://dl.doubtnut.com/l/_G2Tbo88Wrq6K

13. Match the atomic number 2, 4, 8, 15, and 19 with of the
following:

A metal of valency 1.

° Watch Video Solution

14. Match the atomic number 2, 4, 8, 15, and 19 with of the
following:

A gaseous element with valency 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_G2Tbo88Wrq6K
https://dl.doubtnut.com/l/_1blkx1g3UT6U
https://dl.doubtnut.com/l/_3KlyJk9foZ16

15. Match the atomic number 2, 4, 8, 15, and 19 with of the
following:

An element belonging to Group 2.

o Watch Video Solution

16. Match the atomic number 2, 4, 8, 15 and 19 with the
following:

A noble gas.

° Watch Video Solution

lllustrative Assignments



https://dl.doubtnut.com/l/_h6bm7nZgdESn
https://dl.doubtnut.com/l/_9px5ftlnHmMC

1. In group 17 of the periodic table, fluorine is more
reactive than chlorine, and chlorine is less reactive than

fluorine. Give reasons.

o Watch Video Solution

2. In group 1 (alkali metals), sodium is more reactive than
lithium, or lithium is less reactive than sodium. Give

reason.

o Watch Video Solution

3. Magnesium is an element of group 2 of the periodic

table. It forms compounds such as (i) magnesium oxide,


https://dl.doubtnut.com/l/_1fAe5TwX8yo5
https://dl.doubtnut.com/l/_xu1LEuKNsOP8
https://dl.doubtnut.com/l/_ZJw51EIzBLkH

MgO, (i) magnesium hydroxide, Mg(OH),, (iii)
magnesium sulphate, MgSO, and (iv) magnesium
chloride, MgCl,. Calcium is also an element of group 2.
Write the formulae of calcium oxide, calcium hydroxide,

calcium sulphate and calcium chloride.

o Watch Video Solution

4. answer the following questions:

What will be valency of oxygen.

o Watch Video Solution

5. In the periodic table given below, lithium, carbon,

oxygen and neon are placed in their correct positions. The


https://dl.doubtnut.com/l/_ZJw51EIzBLkH
https://dl.doubtnut.com/l/_Y2Ey9N1ve34Q
https://dl.doubtnut.com/l/_ZRfr9z3tukYE

positions of eight other elements are represented by
letters. These letters are not symbols for the elements

concerned.

By reference to the above table, answer the following
questions:
How many electrons will be in the outermost shell of

element F?

o Watch Video Solution

6. In the periodic table given below, lithium, carbon,
oxygen and neon are placed in their correct positions. The
positions of eight other elements are represented by

letters. These letters are not symbols for the elements


https://dl.doubtnut.com/l/_ZRfr9z3tukYE
https://dl.doubtnut.com/l/_zsxyF1HLv6Bj

concerned.

By reference to the above table, answer the following
questions:

What type of bonds can F form?

o Watch Video Solution

7.1n the periodic table given below, lithium, carbon, oxygen
and neon are placed in their correct positions. The
positions of eight other elements are represented by
letters. These letters are not symbols for the elements

concerned.

By reference to the above table, answer the following


https://dl.doubtnut.com/l/_zsxyF1HLv6Bj
https://dl.doubtnut.com/l/_dDXFSnPWzsLV

questions:

Which one is the least reactive metal?

o Watch Video Solution

8. In the periodic table given below, lithium, carbon,
oxygen and neon are placed in their correct positions. The
positions of eight other elements are represented by
letters. These letters are not symbols for the elements
concerned.

Lo

By reference to the above table, answer the following
questions:

Which one is the most reactive nonmetal?

o Watch Video Solution



https://dl.doubtnut.com/l/_dDXFSnPWzsLV
https://dl.doubtnut.com/l/_DwA6YGtKSlRp

9. In the periodic table given below, lithium, carbon,
oxygen and neon are placed in their correct positions. The
positions of eight other elements are represented by
letters. These letters are not symbols for the elements
concerned.

L

By reference to the above table, answer the following
questions:

Name the family of elements represented by E,F,G,R,S.

o Watch Video Solution

10. In the periodic table given below, lithium, carbon,

oxygen and neon are placed in their correct positions. The


https://dl.doubtnut.com/l/_DwA6YGtKSlRp
https://dl.doubtnut.com/l/_eRf4MOofg57l
https://dl.doubtnut.com/l/_rYjTPTAjZJeb

positions of eight other elements are represented by
letters. These letters are not symbols for the elements

concerned.

By reference to the above table, answer the following
questions:

what will be the formula of oxide formed with G?

° Watch Video Solution

1. In the periodic table given below, lithium, carbon,
oxygen and neon are placed in their correct positions. The
positions of other elements are represented by letters.
These letters are not symbols for the elements concerned.

L.


https://dl.doubtnut.com/l/_rYjTPTAjZJeb
https://dl.doubtnut.com/l/_kMRPDTWCoc35

By reference to the above table, answer the following
questions:

Amongst Li, X, Y which atom has the largest size?

° Watch Video Solution

12. What is the electronic configuration of the element in
the third period which gains one electron to change into

an anion?

o Watch Video Solution

13. What is the name given to the energy released when an
atom in its isolated gaseous state accepts an electron to

form an anion?


https://dl.doubtnut.com/l/_kMRPDTWCoc35
https://dl.doubtnut.com/l/_GMsHR6y3p8Rf
https://dl.doubtnut.com/l/_CHu1F7yoLBTJ

o Watch Video Solution

14. The following table represents the first three periods of
the modern periodic table . Study the table and answer
the questions that follow

How many electrons are present in the valence shell of the

element with the atomic number 18?

o Watch Video Solution

15. The following table represents the first three periods of
the modern periodic table . Study the table and answer

the questions that follow:


https://dl.doubtnut.com/l/_CHu1F7yoLBTJ
https://dl.doubtnut.com/l/_x23z3Wn4jhLC
https://dl.doubtnut.com/l/_ruNqg6HkzN9p

Name the element which has the highest ionisation

energy.

o Watch Video Solution

16. The following table represents the first three periods of
the modern periodic table (the atomic number of the
element is given below its symbol). Study the table and
answer the questions that follow:

&

Name the element which has the highest ionisation

energy.

° Watch Video Solution



https://dl.doubtnut.com/l/_ruNqg6HkzN9p
https://dl.doubtnut.com/l/_ZEKOsNfZjKn2

17. What type of bonding will be present in the oxide of

the element with atomic number 1?

o Watch Video Solution

18. Write the formula of the sulphate of the element with

atomic number 13.

O Watch Video Solution

19. Fill in the blanks : The atomic size_ as we move from

left to right across the period, because the

increases but the remains the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_4IQuvFYAukuW
https://dl.doubtnut.com/l/_GfKLByXy4zcG
https://dl.doubtnut.com/l/_7tV6EgYetIaj

20. The position of three elements A, B and C in the
periodic table are shown below:

&2

State whether C is a metal or nonmetal.

o Watch Video Solution

21. The position of three elements A, B and C in the
periodic table are shown below:

&2

State whether C is less or more reactive than A.

° Watch Video Solution



https://dl.doubtnut.com/l/_7tV6EgYetIaj
https://dl.doubtnut.com/l/_fkfbtQY3sknQ
https://dl.doubtnut.com/l/_3pi1Rg4vjHCc
https://dl.doubtnut.com/l/_IXWVkiJjZHNj

22. The position of three elements A, B and C in the
periodic table are shown below:
Lo

Will C be smaller or larger in size than A?

o Watch Video Solution

23. The position of three elements A, B and C in the
periodic table are shown below:

&

Which type of ion, cation or anion, will be formed by

element C?

o Watch Video Solution



https://dl.doubtnut.com/l/_IXWVkiJjZHNj
https://dl.doubtnut.com/l/_TCNvtvuhmtAY
https://dl.doubtnut.com/l/_70AokAwi6GAs

24. Amongst the elements of period 3 :

Na Mg AISiPS Cl Ar

Indicate the atomic numbers of the following type of
elements:

Nonmetals

o Watch Video Solution

25. Amongst the elements of period 3 :

Na Mg Al Si P S Cl Ar

Indicate the atomic numbers of the following type of
elements:

Elements forming negative ions

o Watch Video Solution



https://dl.doubtnut.com/l/_70AokAwi6GAs
https://dl.doubtnut.com/l/_G43JNWJlfx7e

26. Amongst the elements of period 3 :

Na Mg AISiPS Cl Ar

Indicate the atomic numbers of the following type of
elements:

Metals

O Watch Video Solution

27. Amongst the elements of period 3 :

Na Mg AISiPS Cl Ar

Indicate the atomic numbers of the following type of
elements:

Elements forming positive ions

o Watch Video Solution



https://dl.doubtnut.com/l/_D1VgI8OVEK7G
https://dl.doubtnut.com/l/_9b2E85ENWfJl

28. A group of elements in the Periodic Table are given
pelow (Boron is the first member of the group and
Thallium is the last).

Boron

Aluminium

Gallium

Indium

Thallium

Answer the following questions in relation to the above
group of elements :

Which element has the most metallic character ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9b2E85ENWfJl
https://dl.doubtnut.com/l/_8JL7GhZNjjZg

29. A group of elements in the Periodic Table are given
pelow (Boron is the first member of the group and
Thallium is the last).

Boron

Aluminium

Gallium

Indium

Thallium

Answer the following questions in relation to the above
group of elements :

Which element would be expected to have the highest

electronegativity ?

O Watch Video Solution



https://dl.doubtnut.com/l/_mPZIhOmlw8QU
https://dl.doubtnut.com/l/_8eyTbycWGxse

30. A group of elements in the Periodic Table are given
pelow (Boron is the first member of the group and
Thallium is the last).

Boron

Aluminium

Gallium

Indium

Thallium

Answer the following questions in relation to the above
group of elements :

If the electronic configuration of Aluminium is 2, 8, 3, how

many electrons are there in the outer shell of Thallium ?

o Watch Video Solution



https://dl.doubtnut.com/l/_8eyTbycWGxse

31. A group of elements in the Periodic Table are given
pelow (Boron is the first member of the group and
Thallium is the last).

Boron

Aluminium

Gallium

Indium

Thallium

Answer the following questions in relation to the above
group of elements :

The atomic number of Boron is 5. Write the chemical
formula of the compound formed when Boron reacts with

Chlorine.

o Watch Video Solution



https://dl.doubtnut.com/l/_5WeQRJUl64Sc

32. A group of elements in the Periodic Table are given
pelow (Boron is the first member of the group and
Thallium is the last).

Boron

Aluminium

Gallium

Indium

Thallium

Answer the following questions in relation to the above
group of elements :

Will the elements in the group to the right of this Boron
group be more metallic or less metallic in character ?

Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_medXcWp85QsU

Questions For Practice Fill In The Blanks By Using Correct
Word Term Given In The Brackets And Rewrite The Complete

Sentence In Your Notebook

1. Horizontal rows of periodic table are called

° Watch Video Solution

2. In the periodic table, the vertical columns are called

(periods/groups)

o Watch Video Solution

3. The number of electrons in the outermost shell of the

atom of an element tells the to which the element


https://dl.doubtnut.com/l/_P2tFKSQ7VmFP
https://dl.doubtnut.com/l/_enthKGOCOQu3
https://dl.doubtnut.com/l/_XEo6KV6v9AOd

belongs. (group/period)

° Watch Video Solution

4. Period 1 contains elements. (two/eight)

o Watch Video Solution

5. The elements in a period have valencies.

(same/different).

o Watch Video Solution



https://dl.doubtnut.com/l/_XEo6KV6v9AOd
https://dl.doubtnut.com/l/_djqTog3JH8qy
https://dl.doubtnut.com/l/_r6L1y2FSPD0H

6. In the modern periodic table, elements are classified

according to their . (atomic masses/atomic number)

o Watch Video Solution

7.Elements in the same group have _ chemical properties.

(similar/different).

O Watch Video Solution

8. As we move across a period from left to right, metallic

character (decreases/ increases)

o Watch Video Solution



https://dl.doubtnut.com/l/_IgiYmTFkU1pn
https://dl.doubtnut.com/l/_W4GaAcjRw1dd
https://dl.doubtnut.com/l/_WjnIEPA84PBc

9. As we move across a period from left to right,

nonmetallic character (decreases/increases)

o Watch Video Solution

10. The atomic size of lithium is than that of

sodium. (greater/smaller).

O Watch Video Solution

11. Properties of the elements mainly depend on their

. (electronic configuration/atomic masses)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnZzasRtPi04
https://dl.doubtnut.com/l/_zfAb8WoPzAXV
https://dl.doubtnut.com/l/_xPbdf73VpFRY

12. Fluorine is electronegative than lithium.

(more/less)

o Watch Video Solution

13. Atomic size decreases in a _ of the periodic

table as the atomic number increases from left to right.

(group/period)

° Watch Video Solution

14.1n a group, the atomic size from top to bottom.

(increases / decreases).

o Watch Video Solution



https://dl.doubtnut.com/l/_ERTmyqbcCE5z
https://dl.doubtnut.com/l/_5FKtY4Gja1zk
https://dl.doubtnut.com/l/_xN8CDyumd3zw

15. lonisation energy decreases in a as atomic

number increases. (group/period)

° Watch Video Solution

16. lonisation energy of sodium is than that of

potassium. (more/less)

o Watch Video Solution

17. If an element of period 2 has one electron in its

outermost shell, then it is likely to be a

(metal/nonmetal)



https://dl.doubtnut.com/l/_xN8CDyumd3zw
https://dl.doubtnut.com/l/_yvI2jp49ylB1
https://dl.doubtnut.com/l/_QxsVr8ZwxXpW
https://dl.doubtnut.com/l/_v3Tgk2Tw0qW5

o Watch Video Solution

18. The element at the bottom of a group would be

expected to show metallic character than the

element at the top. (less/more)

o Watch Video Solution

19. Properties of the elements are a periodic function of

their . (atomic number/ mass number/relative

atomic mass)

o Watch Video Solution



https://dl.doubtnut.com/l/_v3Tgk2Tw0qW5
https://dl.doubtnut.com/l/_nM55J0OayOVe
https://dl.doubtnut.com/l/_gNH2SVdoKCnl

20.The ionisation potential of potassium is that of

sodium.( > / <)

o Watch Video Solution

21. Write the correct symbol: > [greater than] or <
[less than] in the statements:

The electronegativity of iodine is that of chlorine.

° Watch Video Solution

22. If an element has a low ionisation energy, then it is

likely to be . (metallic/ nonmetallic).

o Watch Video Solution



https://dl.doubtnut.com/l/_HG4l3pyjQuWh
https://dl.doubtnut.com/l/_Fv1ow5AhRhF0
https://dl.doubtnut.com/l/_0yapVSPpaI8o

23. If an element has seven electrons in its outermost shell

then it is likely to have the [largest/smallest] atomic

size among all the elements in the same period.

° Watch Video Solution

Questions For Practice Choose True And False Statements

1. Why atomic number is more fundamental than any other

quantity ?

o Watch Video Solution



https://dl.doubtnut.com/l/_0yapVSPpaI8o
https://dl.doubtnut.com/l/_BvMdFkmwSbHH
https://dl.doubtnut.com/l/_66c5O5VmYEtP

2. Give reason
Atomic size decreases across a period but increases down

a group of the periodic table

° Watch Video Solution

3. Atomic radius of lithium is greater than the atomic

radius of fluorine.Give reason

° Watch Video Solution

4. State true or false: In a group, the valency of each

element is the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_uldLj0LKabgf
https://dl.doubtnut.com/l/_uPpQ3GzzGk5v
https://dl.doubtnut.com/l/_Rs1zIYgOyo31

5. State true or false: The elements of group 17 of the

periodic table are called halogens.

O Watch Video Solution

6. The valency of helium is 2 because it is the second

element of period 1.

o Watch Video Solution

7. Lithium is more reactive than potassium.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rs1zIYgOyo31
https://dl.doubtnut.com/l/_t0IzBEz1hvmY
https://dl.doubtnut.com/l/_elwZh7sfsp9g
https://dl.doubtnut.com/l/_1nbdAHctAeDQ

8.lonisation energy increases on moving down a group in

the periodic table.

° Watch Video Solution

9. Electronegativity of fluorine is greater than that of

chlorine.

O Watch Video Solution

10. Electron affinity is reverse of ionisation energy.

o Watch Video Solution



https://dl.doubtnut.com/l/_3SvWPjaJNsN7
https://dl.doubtnut.com/l/_3uoN6f7GPSmE
https://dl.doubtnut.com/l/_pkm0uXs4phQN

Questions For Practice Answer The Questions In One Word

Or In One Sentence

1. How many groups are there in the modern periodic

table?

° Watch Video Solution

2. Name the first element of group 13.

o Watch Video Solution

3. Potassium belongs to which period of the periodic

table?

[ o WAL _ L vl .~ .. ]


https://dl.doubtnut.com/l/_eoyGxviBVW1k
https://dl.doubtnut.com/l/_2x5cZ1Vi4p1e
https://dl.doubtnut.com/l/_IIZlT0qD021V

L T vvdilil ViUCo o0iuLivil ) |

4. Calcium belongs to which group of the periodic table?

o Watch Video Solution

5. How many electrons are present in the outermost orbit

of helium?

o Watch Video Solution

6. How many shells are there in an atom of silicon?

° Watch Video Solution



https://dl.doubtnut.com/l/_IIZlT0qD021V
https://dl.doubtnut.com/l/_2Ibd3liNtOeQ
https://dl.doubtnut.com/l/_USLGhzWdAGov
https://dl.doubtnut.com/l/_szitxJK1o7lf
https://dl.doubtnut.com/l/_s5swQWjF0QER

7. Name the element which belongs to group 17 and

period 2 of the modern periodic table.

o Watch Video Solution

8. What is the common name of the elements of group 1?7

o Watch Video Solution

9. What is the general name of the elements of group 177

o Watch Video Solution



https://dl.doubtnut.com/l/_s5swQWjF0QER
https://dl.doubtnut.com/l/_rRPAVl1dAwxW
https://dl.doubtnut.com/l/_STdWxUw1bR5O

10. To which group of the modern periodic table do

alkaline earth metals belong?

° Watch Video Solution

11. Which one of Li and F has larger atomic radius?

o Watch Video Solution

12. Which one of Li and K has larger atomic size?

o Watch Video Solution



https://dl.doubtnut.com/l/_IOwc5ixQnC29
https://dl.doubtnut.com/l/_FwXNCJfnt4am
https://dl.doubtnut.com/l/_c1XLdAFgOzrP

13. How does valency change within a group of the

periodic table?

° Watch Video Solution

14. Which one of F and Cl is more electronegative?

o Watch Video Solution

15. Which one of F and Cl has larger electron affinity?

° Watch Video Solution



https://dl.doubtnut.com/l/_eXxbXPHtO3IT
https://dl.doubtnut.com/l/_mjY0GtMlDZrI
https://dl.doubtnut.com/l/_fzNO8wbmWIRT

16. What is the trend in the atomic size in a group, does it

increase or decrease?

o Watch Video Solution

17. State modern periodic law of classification of elements.

o Watch Video Solution

18. Who proposed that atomic number is the fundamental

property of an element?

o Watch Video Solution



https://dl.doubtnut.com/l/_bTgr8ObKgaNH
https://dl.doubtnut.com/l/_Arj7WimpBYsb
https://dl.doubtnut.com/l/_biJ7vFHwm6YQ

19. Which one of Mg and Ca is more metallic?

o Watch Video Solution

20. From the electronic configurations N (2,5), O (2,6) and F
(2,7), answer the following questions:

Which one of N, O and F is most electronegative?

o Watch Video Solution

Questions For Practice Select The Correct Answer From The

Given Choices AB C And D

1. Which one represents the elements of group 17


https://dl.doubtnut.com/l/_NyxmvKM4uM3x
https://dl.doubtnut.com/l/_9aWxzzWS4n0H
https://dl.doubtnut.com/l/_J2L7kkZbYciE

A. Li,Be, B

B. Li, Na, K

C.O,F, Ne

D. H, He, Ne

Answer: B

o Watch Video Solution

2. What is the basis of the long form of the periodic table?

A. Atomic mass

B. Atomic number

C. Atomic size


https://dl.doubtnut.com/l/_J2L7kkZbYciE
https://dl.doubtnut.com/l/_3anY529ludUY

D. Metallic and nonmetallic character

Answer: B

o Watch Video Solution

3. What is the valency of halogens?

A7

B.3

C.1

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3anY529ludUY
https://dl.doubtnut.com/l/_Ymm7NdSQmYzZ

4.In the modern periodic table, which one is most correct

about a period?

A.The first element is an alkali metal, and the last

element is a halogen.

B. The first element is a noble gas, and the last one is

an alkali metal.

C.The first element is an alkali metal, and the last

element is a noble gas.

D. Each element is a nonmetal.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ymm7NdSQmYzZ
https://dl.doubtnut.com/l/_Kjr9nWuzv42z

5. Name an element that has two shells each one of which

is completely filled with electrons.

A. Na

B. Al

C.F

D. Ne

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Kjr9nWuzv42z
https://dl.doubtnut.com/l/_DYNjdoXVXLJu

6. Name an element which has a total of three shells and

there are four electrons in its valence shell.

AP

B.O

C.Si

D.S

Answer: C

o Watch Video Solution

7. Which one of the following has the largest atomic

radius?


https://dl.doubtnut.com/l/_7CGAFPXJNeZX
https://dl.doubtnut.com/l/_LiCkaXg6RJaT

A Li

B.F

C.K

D.Br

Answer: C

o Watch Video Solution

8. Name an element which has a total of two shells and

there are three electrons in its valence shell.

A. Be

B.B


https://dl.doubtnut.com/l/_LiCkaXg6RJaT
https://dl.doubtnut.com/l/_9JsuYbLiITNo

C. Al

D. Mg

Answer: B

o Watch Video Solution

9. Which one of the following has the smallest atomic

radius?

A Li

B.F

C.K

D. Br


https://dl.doubtnut.com/l/_9JsuYbLiITNo
https://dl.doubtnut.com/l/_tKA2hXvgPOPz

Answer: B

o Watch Video Solution

10. Name or state with reference to the elements of the
modern periodic table.
The formula of the hydroxide of the element having
electronic configuration 2, 8, 2.

A. Na

B. Al

C. Mg

D. Ne

Answer: C


https://dl.doubtnut.com/l/_tKA2hXvgPOPz
https://dl.doubtnut.com/l/_uYEyBOxOE35E

o Watch Video Solution

1. Which element has twice as many electrons in its

second shell as in the first shell?

A. Be

B.B

C.C

D.N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uYEyBOxOE35E
https://dl.doubtnut.com/l/_3jkfsHayb1Jq

12. Which one of the following is most reactive? Li Na K Rb

A Li

B. Na

C.K

D.Rb

Answer: D

o Watch Video Solution

13. Which one of the following is most metallic? Na Mg Al

Si

A. Na


https://dl.doubtnut.com/l/_hclIAECYgeup
https://dl.doubtnut.com/l/_OALz3KMxicXC

B. Mg

C.Al

D. Si

Answer: A

o Watch Video Solution

14. Which one of the following is least reactive element? F

Cl Br |

A F

B.Cl

C.Br


https://dl.doubtnut.com/l/_OALz3KMxicXC
https://dl.doubtnut.com/l/_x3plinABuDZB

D. |

Answer: D

O Watch Video Solution

15. Which one of the following is most electronegative? F

Cl Br |

A F

B. Cl

C.Br

D. |

Answer: A

f 1


https://dl.doubtnut.com/l/_x3plinABuDZB
https://dl.doubtnut.com/l/_fFADZt3jurXW

I O Watch Video Solution

16. Which one of the following is an oxide of an alkali

metal?

A. NCLQO

B. MgO

C. 570,

D. Al,O4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fFADZt3jurXW
https://dl.doubtnut.com/l/_HePQvfOtg635

17. Atomic number is the fundamental property of an

element'. Write the name of the scientist who proved it by

an X-ray experiment.

A. a)Bohr

B. b)Newlands

C.c)Mendeleev

D. d)Moseley

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WymZUIgRuxFP

18. What is the atomic number of an element of period 2

and group 17 of the periodic table?

A.10

B.9

C.17

D.19

Answer: B

o Watch Video Solution

19. Which of the following pairs of elements are members

of the same group? Kand Sr Ar and Cl Siand CaO and S


https://dl.doubtnut.com/l/_IbbqgAXdxJnJ
https://dl.doubtnut.com/l/_QUeKDtSayLIL

A.K and Sr

B. Ar and Cl

C.Siand Ca

D.OandS

Answer: D

o Watch Video Solution

20. Which one of the following has the largest ionisation

energy? Ar Cl K Al

A. Ar

B. Cl


https://dl.doubtnut.com/l/_QUeKDtSayLIL
https://dl.doubtnut.com/l/_5CYlGsAd5B4c

C.K

D. Al

Answer: A

o Watch Video Solution

21. Which one of the following is an alkali metal?

A.a)Mg

B. b)Al

Answer: C


https://dl.doubtnut.com/l/_5CYlGsAd5B4c
https://dl.doubtnut.com/l/_0D02vnsLuBV8

o Watch Video Solution

22. Which one of the following is a member of halogen

family?

A. Cu

B.Cr

c.cl

D. Ca

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0D02vnsLuBV8
https://dl.doubtnut.com/l/_bERzdfngAhcB

23. The total number of elements in period 3 of the

periodic table is:

A. a)2

B.b)8

C.q)18

D.d)32

Answer: B

o Watch Video Solution

24. Which electronic configuration corresponds to a noble

gas?


https://dl.doubtnut.com/l/_LRIM43cZWwc7
https://dl.doubtnut.com/l/_scgUDY6zh51C

A 22

B.2, 8, 2

C.2,85

D.2,8,8

Answer: D

o Watch Video Solution

25. Which electronic configuration corresponds to an alkali

metal?

A a)2,2

B.b)2, 8, 2


https://dl.doubtnut.com/l/_scgUDY6zh51C
https://dl.doubtnut.com/l/_WlHNce2mUsUA

C.0)2, 8, 1

D.d)2, 8, 8

Answer: C

o Watch Video Solution

26. Which electronic configuration corresponds to a
halogen?

A 22

B.2,8, 2

C.2,8,1

D.2,8,7



https://dl.doubtnut.com/l/_WlHNce2mUsUA
https://dl.doubtnut.com/l/_LB3bjyKvs5xV

Answer: D

o Watch Video Solution

27. Which one is an oxide of group 2 metal?

A. MgO

B. K5O

C. NCLQO

D. Al 20 3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LB3bjyKvs5xV
https://dl.doubtnut.com/l/_3eKqY7Td91US
https://dl.doubtnut.com/l/_dZIUWyMVdZvR

28. Among the elements given below the element with

highest electronegativity is

A. a)lithium

B. b)carbon

C. c)boron

D. d)fluorine

Answer: B

o Watch Video Solution

29. lonisation potential increases in a period from left to

right because


https://dl.doubtnut.com/l/_dZIUWyMVdZvR
https://dl.doubtnut.com/l/_Qg2E7lorYrlO

A. atomic

increases.

B. atomic

decreases.

C. atomic

decreases.

D. atomic

increases.

Answer: D

radius

radius

radius

radius

increases

decreases

increases

decreases

and

and

and

and

nuclear

nuclear

nuclear

nuclear

charge

charge

charge

charge

o Watch Video Solution



https://dl.doubtnut.com/l/_Qg2E7lorYrlO

30. If an element A belongs to period 3 and group 2, then

it will have

A. 3 shells and 2 valence electrons

B. 2 shells and 3 valence electrons

C. 3 shells and 3 valence electrons

D. 2 shells and 2 valence electrons

Answer: A

° Watch Video Solution

Questions For Practice On Examination Pattern Section |
Select The Correct Answers From The Given Choices AB C D

Write Down Only The Letter Corresponding To The Correct

Answer



https://dl.doubtnut.com/l/_C0uAbscGqWIC

1. With reference to the variation of properties in the

periodic table, which of the following is true?

A. Atomic size increases from left to right across a

period.

B. lonisation potential increases from left to right

across a period.

C. Electron affinity increases on going down a group.

D. Electronegativity increases on going down a group.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cLOvcKdRGVs8
https://dl.doubtnut.com/l/_4u7CZJTGO5iR

2. With reference to the variation of properties in the

periodic table, which of the following is true?

A. Atomic size decreases from left to right across a

period.

B. lonisation energy decreases from left to right across

a period.

C. Electron affinity increases on going down a group.

D. Electronegativity decreases from left to right across

a period.

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_4u7CZJTGO5iR
https://dl.doubtnut.com/l/_k8jNVCda3TaT

3. Which of the following is true in the periodic table?

A. Atomic size increases from left to right across a

period.

B. Electron affinity decreases on going down a group.

C. Metallic character decreases from left to right across

a period.

D. Electronegativity increases on going down a group.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_k8jNVCda3TaT

4. Which of the following is generally true. A: Atomic size

increases from left to right across a period. B: lonization

potential increases from left to right across a period. C:

Electron affinity increases on going down a group. D:

Electronegativity increases on going down a group.

A. Atomic size decreases from left to right across a

period.

B. Electron affinity decreases on going down a group.

C. Metallic character decreases from left to right across

a period.

D. Electronegativity increases on going down a group.

Answer: D



https://dl.doubtnut.com/l/_9g45AMzUbTyH

l o Watch Video Solution

5. Which electronic configuration corresponds to an alkali

metal? 2,2 2,8,2 2,812,838

A 2,2

B. 2, 8,2

C.2,8]

D.2,8,8

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9g45AMzUbTyH
https://dl.doubtnut.com/l/_uzkl4lRP87vA

6. Name an element that has two shells each one of which

is completely filled with electrons.

A. a)Sodium

B. b)Aluminium

C. c)Fluorine

D. d)Neon

Answer: D

o Watch Video Solution

7. Name an element which has a total of three shells and

there are four electrons in its valence shell.


https://dl.doubtnut.com/l/_99L2w7Soy5vq
https://dl.doubtnut.com/l/_7iS1OPXluxkM

A. a)Fluorine

B. b)Oxygen

C. c)Silicon

D. d)Sulphur

Answer: C

o Watch Video Solution

8. Which one of the following has the largest atomic

radius? a) lithium b) sodium c) potassium d) chlorine

A. a)Lithium

B. b)Sodium


https://dl.doubtnut.com/l/_7iS1OPXluxkM
https://dl.doubtnut.com/l/_ixLpal1YQeoo

C. c)Potassium

D.d)Chlorine

Answer: C

o Watch Video Solution

9. Which element has a total of two shells and there are

three electrons in its valence shell?

A. Beryllium

B. Boron

C. Aluminium

D. Magnesium


https://dl.doubtnut.com/l/_ixLpal1YQeoo
https://dl.doubtnut.com/l/_UOXqIw6WOyLI

Answer: B

o Watch Video Solution

10. Which one of the following has the smallest atomic

radius?

A. Lithium

B. Fluorine

C. Potassium

D. Chlorine

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UOXqIw6WOyLI
https://dl.doubtnut.com/l/_KcWO5uHcYmLh

11. An element in period 3 whose electron affinity is zero.

A. Neon

B. Sulphur

C.Sodium

D. Argon

Answer: D

° Watch Video Solution

12. Choose the correct answer

An alkaline earth metal .

A. Potassium


https://dl.doubtnut.com/l/_mtvz61CKYDsJ
https://dl.doubtnut.com/l/_NSQo4m7iaD51

B. Calcium

C. Lead

D. Copper

Answer: B

o Watch Video Solution

13. Select odd one from the following and justify your
answer.

F,Cl,Br,O

° Watch Video Solution



https://dl.doubtnut.com/l/_NSQo4m7iaD51
https://dl.doubtnut.com/l/_yhPA3N4exN52

14. Select odd one from the following and justify your
answer.

H, Na, Li, N

o Watch Video Solution

15. Select odd one from the following and justify your
answer.

Li, Na, Mg, K

° Watch Video Solution

Questions For Practice On Examination Pattern Section |



https://dl.doubtnut.com/l/_TbcwsoE41RQX
https://dl.doubtnut.com/l/_gmLYg0Ca0qwG

1. Match (A) ionisation energy, (B) atomic size, (C) electron
affinity, (D) electronegativity, (E) ionisation potential with
its correct definition given in (i) - (v) below.

(i) The work done in removing an electron from the
outermost orbit of a gaseous atom.

(ii) The energy change when an atom accepts an electron
in its outermost shell

(iii) The energy required in removing an electron from the
outermost shell of a gaseous atom

(iv) The distance of the electron in the outermost orbit of
an atom from its nucleus.

(v) The power of the atom to attract electron or electrons

in a chemical bond.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZFdRowi3p48M

2. Select odd one from the following and justify your
answer.

Li, Be, B, Na

o Watch Video Solution

Questions For Practice On Examination Pattern Section li

1. Name the first and last element in period 2

o Watch Video Solution

2. The following questions refer to the periodic table.

Answer them carefully.


https://dl.doubtnut.com/l/_Ib1lEa7NDUJb
https://dl.doubtnut.com/l/_46cZEOzDP4TD
https://dl.doubtnut.com/l/_qQERv10KRxNW

What happens to the atomic size of elements moving from

top to bottom of a group?

o Watch Video Solution

3. The following questions refer to the Periodic Table :
Which of the elements has the greatest electron affinity

among the halogens ?

° Watch Video Solution

4, What is the common feature of the electronic

configurations of the elements in group 17[VIIA]

o Watch Video Solution



https://dl.doubtnut.com/l/_qQERv10KRxNW
https://dl.doubtnut.com/l/_Xpm6V1gPet0a
https://dl.doubtnut.com/l/_Ar6xBAk2hAsI

5.If an element has a low ionization energy then it is likely

to be ["metallic"// "non-metallic"]

o Watch Video Solution

6. If an element has seven electrons in its outermost shell

then it is likely to have the [largest/smallest] atomic

size among all the elements in the same period.

° Watch Video Solution

7. The metals of group-2 from top to bottom are Be, Mg,
Ca, Sr, Ba. Which of these metals will form ions most

readily and why?



https://dl.doubtnut.com/l/_eNZT9Fn34KGQ
https://dl.doubtnut.com/l/_Jd75NkgM5gJi
https://dl.doubtnut.com/l/_OQDQPOY7vVch

I ° Watch Video Solution

8. What property of an element is measured by

electronegativity.

° Watch Video Solution

9. Look at the atomic radii of some elements of the second
period and answer the questions.

o

Are these elements arranged on the pattern of a period of

the periodic table?

o Watch Video Solution



https://dl.doubtnut.com/l/_OQDQPOY7vVch
https://dl.doubtnut.com/l/_a6deY5MZLbZu
https://dl.doubtnut.com/l/_O7AtE59TfFaq
https://dl.doubtnut.com/l/_4CBXbLIE2Dka

10. Look at the atomic radii of some elements of the
second period and answer the questions.

P

Arrange these elements in the decreasing order of their

atomic radii.

o Watch Video Solution

11. Look at the atomic radii of some elements of the
second period and answer the questions.

Lo

Which element has the largest atomic radius and which

one has the smallest?

o Watch Video Solution



https://dl.doubtnut.com/l/_4CBXbLIE2Dka
https://dl.doubtnut.com/l/_FGuJ0SPMoNVo

12. Name one other element for each which is in the same
group as

(i) carbon (ii) fluorine (iii) sodium

o Watch Video Solution

13.If the element with atomic number 18 is a noble gas, to
which group do you expect the elements with atomic

numbers 17 and 19 belong?

o Watch Video Solution

14. The atomic number of helium is 2 and the atomic

number of lithium is 3. Is it possible to have an element


https://dl.doubtnut.com/l/_jTxDggH2SzWz
https://dl.doubtnut.com/l/_Jbxr1utevJLB
https://dl.doubtnut.com/l/_08OS7xPOqLRu

with atomic number 2.5?

o Watch Video Solution

15. From the electronic configurations Na (2, 8, 1), Mg (2, 8,
2) and Al (2, 8, 3), answer the following questions:

What is the number of valence electrons in each element?

° Watch Video Solution

16. From the electronic configurations Na (2, 8, 1), Mg (2, 8,
2) and Al (2, 8, 3), answer the following questions:

Assign the periods to each element in the periodic table.

o Watch Video Solution



https://dl.doubtnut.com/l/_08OS7xPOqLRu
https://dl.doubtnut.com/l/_ZOCY93uN5YIv
https://dl.doubtnut.com/l/_hu3OWMGpI3ix

17. From the electronic configurations Na (2, 8, 1), Mg (2, 8,
2) and Al (2, 8, 3), answer the following questions:

Which element is the most reactive?

o Watch Video Solution

18. From the electronic configurations Na (2, 8, 1), Mg (2, 8,
2) and Al (2, 8, 3), answer the following questions:

Which element is the least reactive?

o Watch Video Solution

19. From the electronic configurations Na (2, 8, 1), Mg (2, 8,

2) and Al (2, 8, 3), answer the following questions:


https://dl.doubtnut.com/l/_jccCxGCA9KZx
https://dl.doubtnut.com/l/_yKKuSxECEvtE
https://dl.doubtnut.com/l/_BJALwze3yg4N

Which element has the largest atomic radius?

o Watch Video Solution

20. An element belongs to group 17 and period 3 of the
periodic table. Write the following:

The number of valence electrons in its atom.

o Watch Video Solution

21. An element belongs to group 17 and period 3 of the
periodic table. Write the following:

Its valency.

o Watch Video Solution



https://dl.doubtnut.com/l/_BJALwze3yg4N
https://dl.doubtnut.com/l/_56U2VbYdenJP
https://dl.doubtnut.com/l/_WLK67hFBaPmM

22. An element belongs to group 17 and period 3 of the
periodic table. Write the following:

Its metallic and nonmetallic nature

° Watch Video Solution

23. An element belongs to group 17 and period 3 of the
periodic table. Write the following:

Its electronic configuration.

o Watch Video Solution



https://dl.doubtnut.com/l/_wWBHOpr4V67p
https://dl.doubtnut.com/l/_xkA6MY8l0WC7

24. Complete the given table :

Li A

Na || || 5

K | E .' ,

Rb E

Cs | @ IU;
N .

S lamtiC

o Watch Video Solution

25. An element X of group 15 and period 2 exists as
diatomic molecule. It combines with hydrogen and forms
ammonia in the presence of a suitable catalyst.

Identify the element X.


https://dl.doubtnut.com/l/_WIC8ETaulzWn
https://dl.doubtnut.com/l/_WPjb1egVnAFo

o Watch Video Solution

26. An element X of group 15 and period 2 exists as
diatomic molecule. It combines with hydrogen and forms
ammonia in the presence of a suitable catalyst.

Write the electronic configuration of X and count the

number of valence electrons.

o Watch Video Solution

27. An element X of group 15 and period 2 exists as
diatomic molecule. It combines with hydrogen and forms

ammonia in the presence of a suitable catalyst.


https://dl.doubtnut.com/l/_WPjb1egVnAFo
https://dl.doubtnut.com/l/_qjJlKcYv5Xc1
https://dl.doubtnut.com/l/_z2ePBv3GnE8G

Draw the electron dot structure of the diatomic molecule,

and identify and name the type of bond formed.

o Watch Video Solution

28. An element X of group 15 and period 2 exists as
diatomic molecule. It combines with hydrogen and forms
ammonia in the presence of a suitable catalyst.

Draw the electron dot structure of ammonia.

O Watch Video Solution

29. What is the total number of covalent bonds in a

molecule of ammonia?

I o Watch Video Solution


https://dl.doubtnut.com/l/_z2ePBv3GnE8G
https://dl.doubtnut.com/l/_wptE7CO09iOf
https://dl.doubtnut.com/l/_rWlK9tGPUUcA

30.In group 1 of the periodic table three elements X, Y and
Z have atomic radii 133 pm, 95 pm and 65 pm respectively.
Giving a reason, arrange them in the order of increasing

atomic number in the group.

o Watch Video Solution

31. From each of the following sets, name the element with

characteristics specified below:

L

° Watch Video Solution



https://dl.doubtnut.com/l/_rWlK9tGPUUcA
https://dl.doubtnut.com/l/_NzEYRDjlmtMD
https://dl.doubtnut.com/l/_I6er5x9SRUaG

32. From the electronic configurations Li (2, 1), Na (2, 8, 1)
and K (2, 8, 8, 1), answer the following questions:

What is the valence shell of element K?

° Watch Video Solution

33. From the electronic configurations Li (2, 1), Na (2, 8, 1)
and K (2, 8, 8, 1), answer the following questions:

What is the period of Na in the periodic table?

o Watch Video Solution

34. From the electronic configurations Li (2, 1), Na (2, 8, 1)

and K (2, 8, 8, 1), answer the following questions:


https://dl.doubtnut.com/l/_Z8X4cVLF0kXZ
https://dl.doubtnut.com/l/_Eta07NygqdQ1
https://dl.doubtnut.com/l/_otgLaCwCeTRY

Which of these elements has the largest atomic radius?

o Watch Video Solution

35. From the electronic configurations Li (2, 1), Na (2, 8, 1)
and K (2, 8, 8, 1), answer the following questions:

Which one is the most reactive?

o Watch Video Solution

36. From the electronic configurations Li (2, 1), Na (2, 8, 1)
and K (2, 8, 8, 1), answer the following questions:
Formula of sodium sulphate is NaySO,. Write the formula

of potassium sulphate.

I o Watch Video Solution


https://dl.doubtnut.com/l/_otgLaCwCeTRY
https://dl.doubtnut.com/l/_VLO91fILLwl6
https://dl.doubtnut.com/l/_LZpydB7MWHfD

37. State the following:
How do the atomic radii change in a period with

increasing atomic number?

o Watch Video Solution

38. State the following:
How does metallic character change in a period on moving

from left to right?

o Watch Video Solution



https://dl.doubtnut.com/l/_LZpydB7MWHfD
https://dl.doubtnut.com/l/_nINnuDnG7AgS
https://dl.doubtnut.com/l/_9rFL093UTJLH

39. From the electronic configurations N (2,5), O (2,6) and F
(2,7), answer the following questions:

Which one of N, O and F is most electronegative?

o Watch Video Solution

40. From the electronic configurations N (2,5), O (2,6) and F
(2,7), answer the following questions:

What is the number of valence electrons of F?

o Watch Video Solution

41. From the electronic configurations N (2,5), O (2,6) and F

(2,7), answer the following questions:


https://dl.doubtnut.com/l/_6M71D09cnRhv
https://dl.doubtnut.com/l/_6WIgfkqU72EO
https://dl.doubtnut.com/l/_X2CeUwW7p4sO

What is the period number of O in the periodic table?

o Watch Video Solution

42.From the electronic configurations N (2,5), O (2,6) and F
(2,7), answer the following questions:

What is the valency of each one of N, O and F?

o Watch Video Solution

43. From the electronic configurations N (2,5), O (2,6) and F
(2,7), answer the following questions:

Which one has the largest atomic radius?

o Watch Video Solution



https://dl.doubtnut.com/l/_X2CeUwW7p4sO
https://dl.doubtnut.com/l/_j6QjMtDGoGwy
https://dl.doubtnut.com/l/_06q6I5hmmXul

44. Atomic symbols of the first 20 elements of the periodic

table are jumbled.

Rearrange these elements in the increasing order of their

Elements atomic numbers

o Watch Video Solution

45, Atomic symbols of the first 20 elements of the periodic

table are jumbled up in a circle.


https://dl.doubtnut.com/l/_xTLjjoPs71D7
https://dl.doubtnut.com/l/_Jp6pTiO8fWv8

Arrange these elements in their correct periods.

o Watch Video Solution

46. Atomic symbols of the first 20 elements of the periodic

table are jumbled up in a circle.

o View Text Solution

47.In a period if the atomic radius of the first element is

152 pm, what is the atomic radius of the third element-


https://dl.doubtnut.com/l/_Jp6pTiO8fWv8
https://dl.doubtnut.com/l/_vquFp5AvBHUB
https://dl.doubtnut.com/l/_OaWW2hTDIB4h

more than or less than 152 pm?

° Watch Video Solution

48. In a period if the atomic radius of the first element is
152 pm, what is the atomic radius of the third element-

more than or less than 152 pm?

o Watch Video Solution

49. Which one of the figures | and Il represents the correct

measure of atomic radius (r)?

° Watch Video Solution



https://dl.doubtnut.com/l/_OaWW2hTDIB4h
https://dl.doubtnut.com/l/_Ns3pbMfh2VaU
https://dl.doubtnut.com/l/_RtCyypwCqIsW
https://dl.doubtnut.com/l/_zropGRZKy9mo

50. Consider the section of the periodic table given below.

Group A | OA | mMA | VA| VA | VIA|VIIA| O
numbers
1| 2|13 |14|15| 16| 17| 18
Li F O J | Ne
A|Mg| E | Si H K
B| C F| G L

Note : In this table B does not represent boron

C does not represent carbon

F does not represent fluorine

H does not represent hydrogen

K does not represent potassium

You must see the position of the element in the periodic
table.

Some elements are given in their own symbol and position

in the periodic table, while others are shown with a letter.


https://dl.doubtnut.com/l/_zropGRZKy9mo

With reference to the table:

Which is the most electronegative ?

o Watch Video Solution

51. Consider the section of the periodic table given below.
e

Note: In this table, B does not represent boron

C does not represent carbon

F does not represent fluorine

H does not represent hydrogen

K does not represent potassium

You must see the position of the element in the periodic

table.

Some elements are given in their own symbol and position


https://dl.doubtnut.com/l/_zropGRZKy9mo
https://dl.doubtnut.com/l/_rUISOq8IlCGI

in the periodic table, while others are shown with a letter.
With reference to the table:

How many valence electrons are present in G?

o Watch Video Solution

52. Consider the section of the periodic table given below.

Group numbers | IA A |HTA|IVA| VA VIA VIIA 0
I | g |13 |1 15 16| 17 |18

Li D 0 of Ne
| A Mg E Si H
B O F & L

Note: In this table, B does not represent boron
C does not represent carbon

F does not represent fluorine

H does not represent hydrogen

K does not represent potassium



https://dl.doubtnut.com/l/_rUISOq8IlCGI
https://dl.doubtnut.com/l/_TWAQEPDPTxe2

You must see the position of the element in the periodic
table.

Some elements are given in their own symbol and position
in the periodic table, while others are shown with a letter.
With reference to the table:

Write the formula of the compound between B and H.

° Watch Video Solution

53. Consider the section of the periodic table given below.

Group numbers | IA | HA |HIA|IVA| VA VIA VIA 0
1|2 (23 |3 3| 16| 17 |28

Li D 5 (0 .J Ne
|A ‘Mg E Si | H K )
B i F & L

Note: In this table, B does not represent boron

C does not represent carbon


https://dl.doubtnut.com/l/_TWAQEPDPTxe2
https://dl.doubtnut.com/l/_sAdMvdoeGFgi

F does not represent fluorine

H does not represent hydrogen

K does not represent potassium

You must see the position of the element in the periodic
table.

Some elements are given in their own symbol and position
in the periodic table, while others are shown with a letter.
With reference to the table:

In the compound between F and J, what type of bond will

be formed?

° Watch Video Solution

54. Consider the section of the periodic table given below.


https://dl.doubtnut.com/l/_sAdMvdoeGFgi
https://dl.doubtnut.com/l/_GSnw4A4U3kRn

Note: In this table, B does not represent boron

C does not represent carbon

F does not represent fluorine

H does not represent hydrogen

K does not represent potassium

You must see the position of the element in the periodic
table.

Some elements are given in their own symbol and position
in the periodic table, while others are shown with a letter.
With reference to the table:

Draw the electron dot structure for the compound formed

between C and K.

° Watch Video Solution



https://dl.doubtnut.com/l/_GSnw4A4U3kRn

55.The elements of one short period of the periodic table
are given below in order from left to right:

LiBe BCO F Ne

Which one of the above elements belongs to the halogen

series?

o Watch Video Solution

56. The elements of one short period of the Periodic Table
are given below in the order from left to right:

Li Be B C O F Ne

One element of this period is missing. Which is the

missing element and where should it be placed ?

o Watch Video Solution



https://dl.doubtnut.com/l/_JWn7HoK5ER0A
https://dl.doubtnut.com/l/_E3ckK53xzq2q

57.The elements of one short period of the periodic table
are given below in order from left to right:

LiBeB COF Ne

Which one of the elements in this period shows the

property of catenation?

o Watch Video Solution

58. The elements of one short period of the periodic table
are given below in order from left to right:

LiBe BCO F Ne

Place the three elements fluorine, beryllium and nitrogen

in the order of increasing electronegativity.

I o \Wiat~h \NAAA CAliikian



https://dl.doubtnut.com/l/_E3ckK53xzq2q
https://dl.doubtnut.com/l/_JcEGU1E3Mff9
https://dl.doubtnut.com/l/_Ea0OAxxaoxv7
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59. The elements of one short period of the periodic table
are given below in order from left to right:

LiBe BCOF Ne

Which one of the above elements belongs to the halogen

series?

o Watch Video Solution

60. Use the letters only written in the periodic table given
below to answer the questions that follow.

State the number of valence electrons in the atom of
element ).

L

"



https://dl.doubtnut.com/l/_Ea0OAxxaoxv7
https://dl.doubtnut.com/l/_sopLegEjrJBA
https://dl.doubtnut.com/l/_vfAEeIEC9d1F

I ° Watch Video Solution

61. Use the letters only written in the Periodic Table given

below to answer the questions that follow :

In GROUPS

Q
R

m N v Vv

—

L

E|G

Z|M

T

PERIODS
I

Which element shown forms ions with a single negative

charge ?

o Watch Video Solution

62. Use the letters only written in the periodic table given

below to answer the questions that follow.



https://dl.doubtnut.com/l/_vfAEeIEC9d1F
https://dl.doubtnut.com/l/_tj2nevi6Ofpc
https://dl.doubtnut.com/l/_1JNJtYjPl79j

Which metallic element is more reactive than element R?

P

o Watch Video Solution

63. Use the letters only written in the periodic table given
below to answer the questions that follow.

Which element has its electrons arranged in four shells?

Lo

o Watch Video Solution

64. Consider a part of the periodic table of elements
o

« In this table H does not represent hydrogen.


https://dl.doubtnut.com/l/_1JNJtYjPl79j
https://dl.doubtnut.com/l/_S9fVw9S4SWIB
https://dl.doubtnut.com/l/_9q69Ol6irjjN

« Some elements are given in their own symbol and
position in the periodic table while others are shown by
letters. With reference to the table answer the following
questions.

Identify the most electronegative element.

o Watch Video Solution

65. Consider a part of the periodic table of elements

e

e In this table H does not represent hydrogen.

« Some elements are given in their own symbol and

position in the periodic table while others are shown by

letters. With reference to the table answer the following


https://dl.doubtnut.com/l/_9q69Ol6irjjN
https://dl.doubtnut.com/l/_O73CsSeYti6E

questions.

Identify the most electronegative element.

o Watch Video Solution

66. Consider a part of the periodic table of elements

L

« In this table H does not represent hydrogen.

« Some elements are given in their own symbol and
position in the periodic table while others are shown by
letters. With reference to the table answer the following
questions.

Identify the element of period 3 with least atomic size.

° Watch Video Solution



https://dl.doubtnut.com/l/_O73CsSeYti6E
https://dl.doubtnut.com/l/_DvjNGFgeKWnh
https://dl.doubtnut.com/l/_3ptmHSksbZPS

Group 1A A | MA | WA | VA | VIA [VIIA | O
number 1 2 3 14 15 16 17 18
2™ period | Li D o J | Ne
A Mg E S H M
R T | Q u ¥

67.
« In this table H does not represent hydrogen.

« Some elements are given in their own symbol and
position in the periodic table.

» While others are shown with a letter.

With reference to the table answer the following
questions :

Which element from group 2 would have the least

ionization energy?

o Watch Video Solution



https://dl.doubtnut.com/l/_3ptmHSksbZPS

68. Consider a part of the periodic table of elements

P

« In this table H does not represent hydrogen.

e Some elements are given in their own symbol and
position in the periodic table while others are shown by
letters. With reference to the table answer the following

questions.

How many valence electrons are present in Q?

o Watch Video Solution



https://dl.doubtnut.com/l/_in4rZvvBPvn8

Group IA | BA | MA| WA | VA | VIA [VIA | ©
number 1 2 B3| ¥ | 15| 6| 17| 18
2" period | L D o J | Ne
A | M| E Si H M
R T | Q u v

69.
« In this table H does not represent hydrogen.

« Some elements are given in their own symbol and
position in the periodic table.

» While others are shown with a letter.

With reference to the table answer the following
questions :

Identify the noble gas of the fourth period.

o Watch Video Solution



https://dl.doubtnut.com/l/_EaYf1J5EjECL

Group A A | A | WA | VA | VIA |VEIA | O
number 1 2 B 14 15 16 17 18
2™ period | L D o J | Ne
A Ma E Si H M
R I

70.
« In this table H does not represent hydrogen.

« Some elements are given in their own symbol and
position in the periodic table.

» While others are shown with a letter.

With reference to the table answer the following
questions :

In the compound between A and H what type of bond
would be formed and give the molecular formula for the

same.

o Watch Video Solution



https://dl.doubtnut.com/l/_Au5BTCcWLXIK

